Step by Step Sanskrit Learning Programme — Month 11

Lesson 48. Introduction to Sandhi.

Ever tried to say 9id and T together as FAST as your tongue will allow ?
No? Well, try it. What did you get? Al My dears, what you have just

[N
done is a Qi< |

Classical Sanskrit came up with Sandhi and Samaas as a natural development
of the spoken language.

Sandhi brings words together in the manner described above.

Here is how Samaas emerged......What with every word having to be
vibhaktiofied before being used, people felt that if root words were put
together (without first adding the vibhakti) the whole worrisome effort of
having to remember the vibhaktis could ( almost but not quite) be dispensed

with. For example, instead of saying YT ATl for Ram's brother, why not
just say THATAT ?

Also, they were sure that people were smart enough fo figure out the
resultant new word. For example i could describe someone's doe eyed

beauty by simply saying HTIF?I?##‘ instead of a long and winding
NN NN
HITEY I 39 3ME 9 41: 91 |

Do you see how simple it can really be? The difficulty is in breaking the
Samaas and Sandhi to make words of sense. THAT, my dears, requires
practice and we shall begun right now.

Sandhi and Samaas are HUGE topics to be covered all in one go. So it's

easier on the brain, our one and only intellectual faculty, if we do a little bit
at a time.

Let's handle just a little Sandhi today.

Sandhi is combining words arithmetically. You take the last letter of the
first word and ADD it to the first letter of the next word to form a single
word.

Naturally, the letters may be either vowels €U s or consonants =43 s.
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If you combine two swaras, you have a Eadied: |
If you combine two vyanjanas, you have a FFA: |

And if a visarga is involved in the matchmaking, you have a (Eranireicofl
Each sandhi is further divided into "sub" sandhis.
i wish to handle only the EAEIH: in the next few lessons. STATEI: can be

covered later.

o
A

Have a look at the swaras:

HAMIIIFHEE ST AN |

Some of these are pronounced with very little effort. They take about a
second to be spoken aloud. These are called 8Caa: and are... T T I R &

|
Those that need two seconds to be pronounced are called ?«'CT‘EIQ'{-_':!TR and are...

NN !
LT AT Y W and S |
Sometimes, it is required to pronounce swaras three times longer than the
gCdtd{: and they are then called *QAEA: |

These are how they are represented: 313 , 83 , 33, 3 , %3, @], U3, ¥}

N
and 313 |

You will now see how 31T is actually a longer pronunciation of 31 | In that

sense they become Ha ... letters of the same kind/type.
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gandg,GGnd3,3|€and3|{, % and % ,eachpair‘isaﬂaﬂf I

Having understood this, we are in a position to study one form of EaEfed:

called the EAURGET: |

1. EEUEEes:

These are the rules to follow:

First word ending in Next word beginning with Results in
1. 33T + 33T = 3
2 33 ¢ 22 : g
3. 3/& + 3/ = 57
4. EyED + ETED = )

Now let's work with examples ;

¢ ¢ ¢ e
1. 9H + 3Y: = gH: |
Do you remember that a9 s actually a9 + 31 +{+ H+ A ? Go back to
Lesson 2 for a quick revision. The 1 in 99 adds to the 3 in 31: o give
the 2T and arrives at the final word THTH: |

e =

9¢ + 3Ted: = dad: |

=+ A == |

g4l + 3wq = =< |
form « sreft = fammedt
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N ot
ad + 3[AT = qdAT |

2. HF + F*g:=TAeg: |
gR + 3 - &l |
S + TZAN = BEURA |
TR + TR = WERR: |

3. Similarly you will have 3% + Eqa'ilt = {R?qa'if: I

4. f4g +mUM = QU |

Shall we move onto our exercises?

Level 1 - Month 11 lessons 48 — 50 B 299/312
www.chitrapurmath.net © Shri Chitrapur Math 2002-2013




Step by Step Sanskrit Learning Programme — Month 11

Lesson 48 A. Exercises with WT%[‘EIQH%J I

Do the Sandhi of the following:

1. TG + M =
D + HA<3: =
al + A4 =
fEH + 3T =
ft 4 Zo7. -
T + E -

‘I\IQIOI‘:\I + $I(<\'| =

Ve N o O e

Do the @RI of the following. One has been done for you:
e = PR+ Sz

1. E'\larg:
e ~
2. He™
3. US4
4. A
5. RYRT:
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Lesson 48 B. Answers to Lesson 48 A.

o

qleq:
1. FGY + MSH = [SSH |

2. B + 3MG: = FUEG: |
. 981 + ANG: = i |

w

4. &Y + 3T = fEmed: |
5. fIlR + 291 = T |

6. ot + 29T = oT2T: |

7. el + S&d - T |
8. Teradl + sfd = MamEdia |
9. W + 3T = IIgEd: |
10,9 + IecIE: = TESE: |
11, g + Son: = fUqur: |

12, 91q + FEHN: = AIGHN: |

SICDIEEETR
1. Ghes: = G+ T |
2. Rigme - g + emEe |
3. USIgHEG = USIT + AGHEL |
4, Rwea: = & + oTd: |
5. Wtzq?l"\q+é'ﬂ3 |
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Lesson 49. IO |

In this sub-section of TaCA: , we find an addition of swaras that are not

qaut |

These are the rules to follow:

First word ending in Next word beginning with Results in
1. =T + IS q
2. 33T + 3/ 5
3. SH/3SAT + BE/BE I
4, /3T + 3 O
Here are examples for each of them:
1 39 + T = dadem: |
¢ s
2. 99 +3q9: = Iiqd: |
3. |0 + ®Y: = qean: |
4, dd + Q%I = ddeshls |
Shall we try our hand at {.[Uﬂzﬂ?-‘qi in Lesson 49 A?
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Lesson 49 A. Exercises with {,[UI'Hﬁ‘J: |

Do the Sandhi for the following:

1. WET+39T:=
T‘:|T+$F'§[:=
7-[+_$‘i:<f=
Il%’r+‘5£9€1?:=
I + IGhH =
T + AN =
%_Cf+3-ua_§f:=
qd% + 3QT: =

. TET + R =
10. T + S fU: =

11.W+5Ei?@:=
12. 991 + g =

13, HIAT + JBHN: =

Vo N OO s WD

Do the Hﬁﬂﬁﬁ_{i of the following.

-

3q-—§::

W aNy
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Lesson 49 B. Answers to Lesson 49 A.

o

lea:

1. W+$L9T:=qéﬁ3 |

2. T‘:|T+$F'§[:=U\:|’\>Tt I

3. :f+§ﬁ=‘£ﬂ% I

4, TET + S50 = HRRaT: |

5. T + 3G = TGAGHH, |
6. TP + IUN = TSR |

7. %H+m==ﬁm%ﬁf: |

8. T + IS = qegied: |

9. W+5€fﬁf==q€ﬁ |
10.TT + 1T = TN |
11.?;!_’7‘33T+3|€ﬁ&r:=§mﬁ7};\52 |
12. 997 + S g: = aug: |

13. AIST + JhN: = HIGHN: |

Afeafeesa:

1. 3078 =T9 + 375 |

Y aNy ~C
2. A =ad +3I™: |
3, SR = &l + S’ |
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4 WEIGT: = HEl + 359 |
5. TTFIGHH, = TTRT + 35HH_ |

6. FREd: = T+ + I&q: |

[aNy

7. T = I + I
8. TR = + 32 |
¢ Ly <
9. ieg: =W + Feg: |
10. g&Ica™: = J69 + Icad: |
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Lesson 50. Iredl~d: |

Here we go a step further. We add 31/311 to the IJUT to give us a '{I\ﬁ I

These are the rules to follow:

First word ending in Next word beginning with Results in
1. 33T + q/ 'Q = Q
2 ST * S I

Here are examples for each of them:

1, W + U, = THEA |
2. HFQ+3$|§7-I3 :aﬁ'la?[: |

The exercises with the W—‘Ji are in Lesson 50 A.

Level 1 - Month 11 lessons 48 — 50 B 307/312
www.chitrapurmath.net © Shri Chitrapur Math 2002-2013




Step by Step Sanskrit Learning Programme — Month 11

Lesson 50 A. Exercises with the Jr&@ed: |

o

Hle ]
AT+ U =
. U9 + Udd =
. TS + Uhd =

1
2
3
4
5. 9al+Ud =
6
7
8
9

. a1 + 3SRadT =
. AT+ Ud =

. 29 + S -

: +3ﬁﬁl_<€l"{=
10. 574 + TSI =

11, | + GaH_ =
12, S0 + HACHIGTH_ =
13, 3T + TF =
[N o\ =\
Aeaieeg:
1, doRaad
2. TFM:
3. AATE
4, Hezadq
5. FRIcgHIH
6. aEwel
~\
7. 9ad
<A
8. =d
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Q
0. T,
<\
10. SeHdH
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Lesson 50 B. Answers to Lesson 50 A.

o

e
1, 3T+ T0: =30 |
2. U9Y +Udd - F=dad, |
3. T + Uehsl = Tl |
4. UL + VoI = A |
5. e+ Ud=8ad |
6. HET + 3fadl = Faadr |

7. 9T+ Td = d&E |

8. émaﬁmaﬁ{:‘q’a}arﬁ&n

9. A + 3MercaT = FEiad, |
10. 37 + G = gl |

14 91 + GGH_ = HaH_ |
15, ST + HIcHISTH_ = FEUICHIST_ |

11, ST+ OF = R |

qfeai=sg:
S o = e

1., doRdd¥ = qd + WzagH |

2. TIFN: = IET 4+ A |
o} X
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6. dEHGI = qF + ThT |
7 U@ = TG+ |

8 WA= dA+Td |

9. gead = 5@ + Tad, |

10, TELHIH = TOE + WE_ |
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Summing Up Month 11.

This is probably the shortest summing up yet:
By the end of Month 11, you will know
1. Most of the Swara Sandhi.

Told you.
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